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#F=F (uSv/h)
55 BE% B FF fErr . (i‘gj‘i;ﬁm) HIEH
RyybITaRR—R
1 | R’E—TEE—2EAD) HF1—5—5 0.09 0.09 8H29H
(i) 0.09 0.13
(thd k) 0.09 0.13
2 |EENARAD) TEHI-1% 0.12 0.12 8H29H
(Eih) 0.11 0.15
(thad k) 0.11 0.10
3 [uEEINaERAD) H[56—6—6% 0.10 0.12 8H29H
(Eih) 0.11 0.13
(td k) 0.10 0.11
4 |[ETEIINFEKAEAD) Hi57—2% 0.11 0.13 8H29H
(Eih) 0.09 0.12
(thad k) 0.07 0.07
5 |ZEERAEAN) FiE3—7—16 0.10 0.11 8829H
(i) 0.10 0.13
(thd k) 0.09 0.09
6 |BFATEKEAE(AD) ®F9—-33—-30 0.11 0.12 8A30H
(Eih) 0.13 0.17
(thad k) 0.12 0.10
7 |BINE—2AEAD) 8F1—-15—10 0.11 0.11 8HA30H
(i) 0.12 0.13
(td k) 0.13 0.20
8 |EEBELEAD) KE1—2—-16 0.12 0.11 8H30H
(Eih) 0.11 0.14
(thad k) 0.11 0.15
9 |F)-RETKAAEEH) (AD) HEBRUSE 0.14 0.16 88 30H
(i) 0.13 0.16
(thd k) 0.10 0.09
10 [FNI-RETKZAE(AR) 3 —8% 0.14 0.16 8H31H
(Eih) 0.12 0.15
(thad k) 0.10 0.11
N | FBoTHF2EBEAD) HH3—-3—47 0.13 0.14 8H31H
(i) 0.11 0.11
(thd k) 0.12 0.13
12 E-TEH2BEAD) HE2-4-6 0.08 0.10 8H31H
(Eih) 0.08 0.10
(thad k) 0.08 0.07
13 |BRITHAAE(AD) #MR1—29—4 0.10 0.14 8A31A
(i) 0.10 0.12
(td k) 0.08 0.07




= (1 Sv/h)

&5 ffE% B T Err e (i‘i{mi;ﬁm) RIER
EEREF
1 |RERREE RB2—9-35 0.08 0.07 78228
2 |HERREE HE4—20—17 0.10 0.10 78228
3 |[HE+REIIHKCERBAIX Hf54—12—161h%E 0.10 0.10 7H228
4 [HTOIVBAVILIEER BME1—1-1
£HE5 (BIERE) 0.12 0.11 78228
VYA IVERIERTI (2 T)—F) 0.06 0.08
£1E5 (YA UL LME) 0.15 0.14




